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When dividing radicals: divide/reduce the coefficients together and divide/reduce the = PR
radicands together.
e Sl_b’ - 5 You can only divide radicals that have the same index
Then you MUST rationalize the denominator (the denominator must be a positive whole
number, not a radical).
Simplify by rationalizing the denominator:
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When the denominator is a binomial: rationalize the denominator using the con!ugate (the
same two terms separated with ogg_ﬂe signs).
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HW: p 289 Questions: 6, 7b, 8ab, 10, 11ab
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